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PREVIOUS YEAR QUESTIONS
FINANCIAL MANAGEMENT
Q.1 Radha is an enterprising businesswoman who has been running a fishery for the past ten years. She has saved 10 lakhs from her business. She shared with her family her desire to utilise this money to expand her business. Her family members gave her different suggestions like buying new machinery to replace the existing one, acquiring altogether new equipment with latest technology, opening a new branch of the fishery in another village and so on. Since these decisions are crucial for her business, involve huge amount of money and are irreversible except at a huge cost, Radha wants to analyse all aspects of the decisions, before taking any step. 
(i) Identify and explain the financial decision to be taken by Radha.
(ii) Also explain briefly any two factors that affect this decision. 
Ans. (i) The financial decision, to be taken by Radha is 'Investment Decision'. 
(ii) Two factors affecting investment decision are: 
(a) Cash flows of the project.
(b) Rate of return.
Q.2 Sarah Ltd.' is a company manufacturing cotton yarn. It has been consistently earning good profits for many years. This year too, it has been able to generate enough profits. There is availability of enough cash in the company and good prospects for growth in future. It is a well-managed organisation and believes in quality, equal employment opportunities and good remuneration practices. It has many shareholders who prefer to receive a regular income from their investments. It has taken a loan of Rs 40 lakhs from IDBI and is bound by certain restrictions on the payment of dividend according to the terms of loan agreement. 
The above discussion about the company leads to various factors which decide how much of the profits should be retained and how much has to be distributed by the Company. 
Quoting the lines from the above discussion identify and explain any four such factors.
Ans. Factors affecting dividend decision: 
(a) Stability of Earnings
"It has been consistently earning good profits for many years." 
(b) Cash Flow Position
"There is availability of enough cash in the company. 
(c) Growth Prospects
‘'Good prospects for growth in the future."
(d) Shareholders' preference
‘It has many shareholders who prefer to receive regular income from their investments.’
(e) Contractual Constraints
‘It has taken a loan of ₹ 40 lakhs from IDBI and.... agreement’. 
Q.3 Ramnath Ltd. is dealing in import of organic food items in bulk. The company sells the items in smaller quantities in attractive packages. Performance of the company has been up to the expectations in the past. Keeping up with the latest packaging technology, the company decided to upgrade its machinery. For this, the Finance Manager of the company, Mr. Vikrant Dhull, estimated the amount of funds required and the timings. This will help the company in linking the investment and the financing decisions on a continuous basis. 
Therefore, Mr. Vikrant Dhull began with the preparation of a sales forecast for the next four years. He also collected the relevant data about the profit estimates in the coming years. By doing this, he wanted to be sure about the availability of funds from the internal sources. For the remaining funds he is trying to find out alternative sources. 
Identify the financial concept discussed in the above paragraph. Also, state any two points of importance of the financial concept, so identified.
Ans. The Financial concept discussed above is ‘Financial Planning’.
Q.4 The Return on Investment (ROI) of a company ranges between 10-12% for the past three years. To finance its future fixed capital needs, it has the following options for borrowing debt:
Option ‘A’: Rate of interest 9%;  Option 'B': Rate of interest 13% 
Which source of debt, 'Option A' or 'Option B', is better? Give reason in support of your answer. Also state the concept being used in taking the decision. 
Ans. Option 'A' is better.
This is because in this option, Return on Investment (10-12%) in higher than the Rate of Interest (9%).
The concept being used in taking the decision is Trading on Equity. (Explain)
Q.5 A business that doesn't grow dies', says Mr. Shah, the owner of Shah Marble Ltd. with glorious 36 months of its grand success having a capital base of Rs 80 crores. Within a short span of time, the company could generate cash flow which not only covered fixed cash payment obligations but also create sufficient buffer. The company is on the growth path and a new breed of consumers is eager to buy the Italian marble sold by Shah Marble Ltd. To meet the increasing demand, Mr. Shah decided to expand his business by acquiring a mine. This required an investment of Rs 120 crores. To seek advice in this matter, he called his financial advisor Mr. Seth who advised him about the judicious mix of equity (40%) and Debt (60%). Mr. Seth also suggested him to take loan from a financial institution as the cost of raising funds from financial institutions is low. Though this will increase the financial risk but will also raise the return to equity shareholders. He also apprised him that issue of debt will not dilute the control of equity shareholders. At the same time, the interest on loan is a tax deductible expense for computation of tax liability. After due deliberations with Mr. Seth, Mr. Shah decided to raise funds from a financial institution. 
(i) Identify and explain the concept of Financial Management as advised by Mr. Seth in the above situation.
(ii) State the four factors affecting the concept as identified in part 'a' above which have been discussed between Mr. Shah and Mr. Seth.
Ans. (i) Capital Structure (Explain)
(ii) The factors affecting capital structure are: (Explain any four)
a) Cash flow position
b) Floatation cost
c) Risk consideration
d) Tax rate
e) Control 
Q.6 Pinnacle Ltd. deals in the sale of stationery and office furniture. They source the finished products from reputed brands who give them four to six months credit. Seeing the demand for electronic items, they are also planning to market these items by opening outlets throughout India. For this, they have decided to join hands with a Japanese electronic goods manufacturer. Identify and state any two factors that would affect fixed capital requirement of Pinnacle Ltd. as discussed above.
Ans. Two factors that would affect fixed capital requirement of Pinnacle Ltd. are:
(i) Growth prospects.
(ii) Level of collaboration.
Q.7 Miracle Ltd. deals in the sale of stationery and office furniture. They source the finished products from reputed brands who give them four to six months credit. Because of increase in the demand for electronic items, they are planning to sell these items also. For this, they have decided to join hands with a Japanese electronic goods manufacturer, to open sales outlets throughout India.
State any three factors affecting working capital requirement of Miracle Ltd. other than the factors discussed above. 
Ans. Three other factors affecting working capital requirement: (Explain)
(i) Production cycle.
(ii) Availability of raw materials.
(iii) Business cycle.
Q.8 Which decision is involved in launching a new product line or opening of a new branch?
Ans. Investment or capital budgeting decision.
Q.9 The size of assets, the profitability and competitiveness are effectively by which decision in financial management?
Ans. Capital budgeting decision (Long-term investment decision).
Q.10 Identify the decision taken in financial management which affects the liquidity as well as profitability of a business.
Ans. Working capital Decision or (Short-term investment decision).
Q.11 What are the essential ingredients of sound working capital management.
Ans. a) Efficient cash management
b) Efficient inventory management
c) Efficient receivables management
Q.12 Which component of capital structure determines the overall financial risk?
Ans. Debt (i.e., Borrowed funds). The overall financial risk depends upon the proportion of debt in the total capital.
Q.13 How does Cost of debt affect the capital structure of an enterprise?
Ans. ‘Cost of debt’ affects the choice of capital structure of a company as low interest rates increase a firm’s capacity to employ higher debt.
Q.14 How does ‘Cost of Equity’ affect the capital structure of an enterprise?
Ans. Use of higher debt increases the cost of equity as the financial risk faced by the equity shareholders increases; debt can therefore be used only upto a level.
Q.15 How does ‘Cash Flow Position’ affect capital structure of an enterprise?
Ans. Cash flow position affects capital structure of an enterprise as projected cash flows need to be considered to meet fixed payment obligations associated with debt.
Q.16 How does ‘Return on Investment affect capital structure of an enterprise?
Ans. Return on investment affects the capital structure of an enterprise as a higher return on investment will increase the ability of the company to use more debt.
Q.17 What is meant by floatation cost?
Ans. Cost of raising funds is called floatation cost, e.g., cost of advertising, printing prospectus, etc.
Q.18 Technological Upgradation affects one of the types of capital requirement of an organisation. Identify the type of capital affected with reference to the above statement.
Ans. Fixed Capital 
Q.19 A steel manufacturing company is diversifying and starting a thermal power plant. State with reason the effect of diversification on the fixed capital requirements of the company.
Ans. With diversification, the fixed capital requirements will increase as the investment in fixed capital increase.
Q.20 Explain the objectives of financial planning.
						Or
‘Financial planning is a financial blueprint of an organisation’s future operations’. Explain the twin objectives of financial planning in the light of this statement.
Ans. Objectives of Financial Planning:
(i) To ensure availability of funds whenever required
(ii) To see that the firm does not raise resources unnecessarily 
Q.21 What is meant by ‘Financial Management’? State the primary objective of financial management.
						Or
Explain the concept and the objectives of financial Management.
						Or
Define Financial Management. What is the objective of financial management?
Ans. Financial Management means management of flow of funds and involves decisions relating to procurement of funds, investment of funds and distribution of earnings to the owners.
						Or
Financial management means planning, organising, directing and controlling the financial activities of the organisation.
Primary objective of Financial Management:
The primary objective of financial management is to maximise shareholders wealth i.e. to maximise the market price of equity shares of the company.
Q.22 How do debt and equity differ in their costs and risks involved? Explain.
Ans. Debt and Equity differ in their costs and risks involved:
Cost
· The cost of debt is lower than the cost of equity for a firm because the lender requires a lower rate of return as his risk is lower than the equity shareholder.
· Moreover, interest paid on debt is a tax deductible expense whereas dividends are paid out of after-tax profits.
Risk
· Debt is more risky for a business because the payment of interest and the return of principal amount are obligatory for the business which increases the financial risk of a company whereas there is no such compulsion in case of equity, making it riskless for the company.
Q.23 Determining the relative proportion of various types of funds depends upon various factors." Explain any five such factors.
OR
Explain how the (a) Cost of Debt and (b) Cost of Equity affect the choice of capital structure. 
						OR
"Determination of capital structure of a company is influenced by a number of factors." Explain any six such factors.
Ans. Factors Affecting Capital Structure: (Explain)
i. Cost of debt
ii. Risk consideration
iii. Cost of equity
iv. Interest coverage ratio
v. Tax rate
vi. Flexibility
vii. Cash flow position
Q.24 State any four factors affecting the financial decision.
Ans. Factors affecting the financial decision: (Explain any four)
i. Cost
ii. Risk
iii. Floatation costs
iv. Cash flow position
v. Capital
vi. State of the capital market
Q.25 “Sound Financial Planning is essential for the success of any enterprise.” Explain this statement by giving any six reasons.
Ans. The process of estimating the funds requirements of a business and specifying the sources of funds is called financial planning.
Financial planning is important because:
(a) It helps in avoiding business shocks and surprises and helps the company to prepare for the future. 
(b) It helps in coordinating various business functions by providing clear policies and procedures
(c) Detailed plans of action prepared under financial planning helps in reducing waste, duplication of efforts and gaps in planning.
(d) It tries to link the present with the future.
(e) It provides a link between investment and financing decisions on a continuous basis 
(f) It makes the evaluation of actual performance easier by spelling out detailed objectives for various business segments.
Q.26 ‘Wealth maximisation’ is the primary objective of financial management. Explain.
Ans. Wealth maximisation is the primary objective of financial management which means maximising the market value of investment in the shares of the company. It is possible only by: 
(i) Ensuring availability of sufficient funds at reasonable cost.
(ii) Ensuring effective utilisation of funds.
(iii) Ensuring safety of funds by creating reserves, re-investment of profits, etc.
Q.27 Explain the following as factors affecting dividend decision:
(a) Stability of earnings; 
(b) Growth opportunities;
(c) Cash flow position; and 
(d) Taxation policy.
Ans. Factors affecting the Dividend Decision: (Explain)
(a) Stability of earnings: A company having stable earning can declare higher dividends.
(b) Growth opportunities: Less dividend is paid if good growth opportunities are there.
(c) Cash flow position: More dividend can be paid if cash flow position is strong.
(d) Taxation policy: A dividend distribution tax is levied on companies. So, if tax rate on dividend is higher, it would be better for a company to payless dividend.
Q.28 Name the concept which increases the return on equity shares with a change in the capital structure of a company.
Ans. Trading on equity or financial leverage
Q.29 Koby Ltd. is an 87-year-old reputed consumer goods company. It is known for offering good quality electronic products at reasonable prices. It has branches all over India. It has a large shareholder base. The shareholders desired that some dividend is paid every year on their investments. Company's management understands that it is important to keep the shareholders happy and satisfied. As a matter of policy, they declare a certain amount of dividend every year out of profits rather than reinvesting the whole as retained earnings. 
Identify the factor affecting dividend decision being highlighted in the above situation.
Ans. Shareholders preference.
Q.30 VXL Ltd. is a company dealing in dairy products. It processes these products from Rajasthan and sells them to various parts of Delhi. A month before 'Merio Ltd. a Haryana based company entered Delhi market with a similar range of products.
State the impact of entry of Haryana based 'Merio Ltd.' on the working capital requirements of VXL Ltd. Also, name the factor affecting the working capital requirements of VXL Ltd. 
Ans. The entry of Haryana based 'Merio Ltd. will increase the working capital requirements of VXL Ltd. as competition may force it to extend liberal credit terms. The factor affecting working capital requirements is level of competition.
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